OSAD JA KINNITUSVAHENDID

Osade nimekiri

1) Esipaneel (1)

2) Kllgpaneel(2)

3) Tagaluuk (1)
Pdhjapaneel (2)
Haakekeel (1)
Rattatelje tugi (2)
Rattatelje latt (1)
Tagumine risttugi (1)
9) Haakekeele tugi (1)
10) Rattad (2)

11) Haaketihvti tugi (1)
12) Haakekeele riiv (1)

4

— O — — ' ~— ~— ~—

5
6
7
8

Kinnitusvahendite nimekiri
13) Lukustusmutrid (1)

14) M8*15 Kuuskantpeaga polt (17)
15) M8 * 20 Kuuskantpeaga polt (12)
16) M8* 20 Kuuskantpeaga polt (2)
17) M8*90 Kuuskantpeaga polt (1)
18) M8 *80 Lukuvarras(16)
19) M12 Lukuvarras (1)
20) M8 Mutter (31)
21) B Splind(1)
22) M20 Seib (2)
23) Splind(2)

)

24) R Splind (8)





